TASK C: Matchboxen

Espr1t has received a beautiful present for his recent birthday: a huge Matchbox collection of sport cars. He likes to arrange the cars on the table, side by side. He also likes rearranging them, and he made it a habit to shuffle the cars' order each day. One Thursday he asked himself, how many rearrangements he could possibly make, without any repetitions. Be aware, that some of his cars are identical, and if you just shuffle identical cars, you don't obtain new arrangement (see the example for further clarification).

Input

The input consists of several test cases. Each test case consists of two lines. The first line contains N (1 <= N <= 20000) - the number of all cars in Esprit's collection. The second line specifies the current order of the cars on the table. Each car has some number printed on its rooftop. Identical cars have equal numbers. Each number is a non-negative integer, with no more than nine digits.

The input is terminated by a test case with N = 0 (you don't have to print answer for this case)

Output

For each test case in the input you should output one integer, on a separate line – the answer required. It is guaranteed, that the answer fill fit in a signed 64-bit integer 

(0 <= the answer <= 9223372036854775807)

	Sample input
	Sample output

	5

8 2 0 12 987654321

4

2 1 3 1

0
	120

12


